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Q4
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SECTION-1| GENERALAPTITUDE TEST |25 QUESTIONS

Select the option that is related to the third
word in the same way as the second word
is related to the first word.

Kitchen : Refrigerator :: Bathroom : ?
(A) Television

(B) Geyser

(C) Microwave Oven

(D) SewingMachine

In a certain coded language, if BRAKES is
written as TAGPNX and CLUTCH is
written as IBEJWR, then how will be the
word WHEELS written as in that language?
(A) TVMGFD

(B) TVNEHB

(C) XRJJHB

(D) TYNFHB

In a certain coded language, if RAMESH is
written as TBNFTJ and MITALI is written
as NJVBNI, then how will be the word
RANBIR written as in that language?

(A) SBOCIJS

(B) SCODIT

(C) TBPDIT

(D) TBPCKS

Deepika is the mother-in-law of Privanka
whose husband is the father-in-law of the
wife of Ranbir. Salman is the only son of the
husband of Deepika while Katrina is the only
daughter of the mother of Ranbir. How is
Salman related to Katrina?

(A) Husband

(B) Brother

(C) Father

(D) Grandfather
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Ql

Q2
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Q4

o8 fwe g, e it oe @ Wy
% dwn & Wy & O o e @
UBd W B 6 #

Wi - weiiers = e ?
(A) Eehfasm

(B) @1 W (o)
(C) wrghiaa A

(D) foong 7

R Fiftea o w1 3, af% BRAKES
®! TAGPNX & %y ¥ forar aman # afw
CLUTCH ®t IBEJWR & 9 # formm
wren 8, o s WHEELS &1 fve wq #
ferar wmer?

(A) TVMGFD

(B) TVNEHB

(C) XRJJHB

(D) TVNFHB

faseh Pf¥ea g s §, 9fz RAMESH
@ TBNFT) @& &g # forn oman & afw
MITALI @ NJVBNI & wu # ferar wven
2, ot w&s RANBIR 71 fé5y wu ¥ foran
we?

(A) SBOCIJS

(B) SCODIT

(C) TBPDIT

(D) TBPCKS

Qe faer @ am & e oy,
Wil # g @ Wy # | e, Hfte
& ufty &1 goelan de7 & wAfs ded,
YR A A B gHeAn 38§ | wEwE
& dehr W T Gad &7

(A) ufty

(B) g

(C) Ren

(D) 3T
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Q6

Read the given statements and conclusions
carefully. Assuming that the information given
in the statements is true, even if it appears to
be at variance with commonly known facts,
decide which of the given conclusions
logically follow(s) from the statements.

Q5

LELFeaY

Statements:
Some lions are cats.
All cats are tigers.

No tiger is an elephant.
All elephants are rabbits.

B b —

Conclusions:

) Sometigersare lions,

) Noelephant isalion.
) Some cats are elephants.
IV) Some tigers are cats,

(A) Only conclusion Il follows.

(B) Onlyconclusions Iand Iil follow.
(C) Only conclusions I1and IV follow.
(D) Only conclusions I and IV follow.

Select the option that can replace the
question mark (7) in the following series.

Q6

SUPER, PSRUE, RPESU, ERUPS, ?,
SUPER

(A) PSRUE

(B) UESRP

(C) EURSP

(D) USERP

faw v Fut siw el o e 4 )
78 W &¢ 5 Tt 3 @ 18 G
wd &, 9d 8 7% wmra s el |
e & w0 w1 B, g fofa & & Ry
¢ foyepst 3 | @ w1/ @ Preed afdes
w9 ¥ DT B IFER dwe &/ d

m = & erd, Rie 78 )
nn o fafeedn, s &)
v) o T, ffeedl 8

(A) daa fsd 11 argavor wvar &

®) Baw fresd 1 sl 11 srgeew s
gl

(C) Taa Frend 113l [V SEvw &
g1

(D) Faa Frepd 13l IV s7a &
(4

a8 Rew g o A & w1 sfwen |
wefEs (7) & wienfie @ o 2

SUPER, PSRUE, RPESU, ERUPS, ?,
SUPER

(A) PSRUE

(B) UESRP

(C) EURSP

(D) USERP
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Q8

Select the number that can replace the
question mark (7) in the following series.

51,44, 49, 42, 47, 40, 45, 38, 7
(A) 31
(B) 33
€) 43
(D) 45

The ages of two friends Ramesh and Rajesh
are in the ratioof4 : 3.

Which of the below pieces of information is

additionally required to answer what the

average age of Ramesh and Rajesh is?

(A) Ramesh is 10 years older than Radha
who is the younger sister of Rajesh.

(B) The agedifference between Ramesh’s
father and Rajesh’s mother is 8 years.

(C) 6 years ago, the ratio of the ages of
Ramesh and Rajeshwas 3:2.

(D) Ramesh was 12 years old when Rajesh
was in senior KG in his school.

Five friends A, B, C, D and E are seated in
a row and are watching a movie. Aand D
are seated at the extreme ends while B is
seated exactly in the middle.

What additional information is required to

answer who is seated nextto A?

(A) B isseated immediately nextto both C
and E.

(B) Cisnotseated nexttoD.

(C) Cisseated nexttoB.

(D) B isseated nexttoE.

LM-B
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Q8

a5 e g o e @ swen i
wgAfaEA (7) & uferenfia & aadr &

51,44, 49, 42, 47, 40, 45, 38, 7
(A) 31
(B) 33
(©) 43
(D) 45

A R v A Ay 4:3F
U H &

A 91 T B W IEER 59 uIE @

I a4 & fog sfoRea w9 9 smaws

2, & v siw e 9 sfvaa amg @

87

(A) e, T ¥ 10 af e1 & W vew
o B 989 B |

B) v & fiar ok o & & @ d
Y & e g v 7

(C) 64 qd, i iR Tomy & I &
U 3:297|

(D) W& oy o faenea AR
Hofl. ¥ e, 7@ W 129§ P a7

urg 3 A, B, C, D3R E & wfaw 3 &8
g 3R foem 3w @ &) Asiv Daiftw
PRI E e Bds da d dor &7

UE 9T o1 & fory v aiftRes smerd

o yEEEar 8, 6 A qa § o dor

27

(A) B, CalR E=F & &% 77a o dar
2l

(B) C,D& anad # =18 a1 &

(C) C,B® ava # da7 B}

(D) B,E® awer # der1 &)
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Q10

Q11

Q12
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A is the brother of B and son of Cand D. E
is the husband of B and father of F.

What additional information is required to
answer how C is related to A7

(A) B isthe only daughter of C and D.

(B) D isthe maternal grandfather of F.

(C) Fistheonly grandson of C.

(D) AisthesonofC.

In a certain coded language, INCOME is
written as HPENOG. How will be SAVING
written as in the same language?

(A) RCVHPG

(B) RXCHIP

(C) RCXHPI

(D) RCXHPG

If in a coded language MIND is written as
IMDN, how will be GAME written as in the
same language?

(A) GEMA

(B) MEGA

(C) AGEM

(D) EGAM

5101912

Q10 ABFIHE gaiRCcaRD®#IBIE,

Ql1

Q12

Bo ufty 3R F& far &1

I8 O o1 @ fow @ @ afoRe
TFeR A aEwmea &, B CHE AD
A T Hag 87

(A) B,Ca3w D#t goelih & 8
(B) D,F& =1 &|

(C) F,C &1 g@eitar dren &)

(D) A, C @ ¥ &)

g fAftsa @ W # INCOME #
HPENOG & w4 # foran wmar @)
SAVING &I S8 @ wmr # fve w9 4
fergm smgn?
(A) RCVHPG
(B) RXCHIP
(C) RCXHPI

(D) RCXHPG

If% ' T W # MIND &1 IMDN &
wq ¥ foran wman 8, o GAME & S9!
e w1 ¥ frw w0 A feran s
(A) GEMA

(B) MEGA

(C) AGEM

(D) EGAM
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Q13 Inthe given series, one number is wrong. Q13 € g HEan | P weAr o 8| 98

Select the wrong number. TTerT WeET g |

18,22, 44, 48, 52, 100, 200 18, 22, 44, 48, 52, 100, 200
(A) 48 (A) 48

(B) 52 (B) 52

(C) 100 (©) 100

D) 200 D) 200

Q14  Select the number that will come next in the Ql4 T Wem g+ o frrmfaraa saar # ami

following series. gt |
3,4, 13,38, 87, 168, ? 3,4,13,38, 87, 168, ?
(A) 199 (A) 199
(B) 289 © (B) 289
(C) 203 (C) 203
D) 259 X (D) 259

QIS5 IfFXAY implies X + ¥ " QIS afk XAY @A X7 +y? 8
XBY implies X7~ ¥ XBY &1 arad X7- Y@
XCY implies (X + ¥)? XCY &1 aread (X + ¥)? & |
XDY implies (X — ¥)? then, XDY® awad (X - ¥)* &
Which of the following is TRUE? o1 Fresferfea & & =1 wow &7
(A) (7C3)-(6D6)=-100 ~ (A) (7C3)~(6D6)=-100
(B) (3C2)D(5B5)=624 (B) (3C2)D(5B5)=624
(C) (3A2)B(5C4)=88 (C) (3A2)B(5C4)=88
(D) 216D256=-1600 (D) 216D256=—-1600
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Q16

Q17

If P + Q means that P is the sister of Q,
P+ Q means that P is the mother of Q) and

P = Q means that P is the brother of Q,
which of the following means A is the aunt of

D?

(A) A+ ExD
(B) F+A+ExD
(C) A+B+CxD

(D) AXxE+BxC+D

Select the option that is related to the third
term in the same way as the second term is

related to the first term.

Pressure : Pascal ;: Current : 7

(A) Volte
(B) Joule
(C) Watt

(D) Ampere

Ql6

Q17

g P+Qaraf 2 5 PQ ot wwm 8,
P-Qaranf 8 & P,Q Y #i & afiR

PxQmad e PQw wid 8 &
add a2 5 A, D@
=l /A /T /B / g/ A &7

(A) A= ExD
B) F*A+ExD
(C) A+B+CxD

D) AxE+BxC+D

95 fiwes 1 o AR e & A o
YR Hafd B, ford uen g v uwel
e W el #)

TE : YD = fagyge-am : ?

(A) dice

®) e
(C) T

(D) tfgme
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Q19

Read the given statement and conclusions
carefully and select which of the conclusions
logically follow(s) from the statement.

Statement:

The changing trends in Indian cinema has
witnessed big budget star powered movies
doing poor business and a lot of small budget
content driven movies earning good
business.

Conclusions:

(i) The low budget movies are huge hits
due to their story content irrespective
of the star cast.

(i) The big budget movies are flop at box
office for casting big stars.

(A) Only conclusion (i) follows.

(B) Only conclusion (ii) follows.

(C) Both, conclusions (i) and (i) follow.
(D) Neither conclusions (i) nor (ii) follow,

Village P is to the east of village Q.
Village R is to the north of village P.
Village S is to the west of village R.
Village S is towards which direction of

village P?

(A) South-east
(B) South-west
(C) North-west
(D) North-east

Q18

Q19

fay my were o fresd ®) @ @
A faftgg &Y & &9 w/@ Fred

afe® &9 | T BT FTA Hal
g/ &)

Y

adrd R # aged < gw a9
Tarit ¢ w8 # 5 Rart (samen) @) a2
qulc A v wve IR o o) &
I fawa-awg smnfa B 9o A o
sl afgar sRER v @ &)

e

) Faanl (@amR) & au9 @ afe
HE® 71 90 §U U wur W @
BNV BIE quie 9 5! s wod
LR A

(i) a3 et (FAPR) & 79 & BRY
49 wure @) fpe dfew aifftva ov
IHHE W B

(A) daw fFrend (i) arqavor s #)

(B) @ae Frepd (i) argemor @ &)

(C) =1, Frewd (i) 3w (i) arpeor s
g

(D) = o Fresd (i) =1 8 (i) ST e
Bl

Wia P Q@ qd A2 W R, P
ot i 8 *ifg S, 7fa R & uftew % &)
e S, W P few R &t aiw &7

(A) wlivr — g
(B) =féyor — uf¥em
(C) 9w — uf¥awm
(D) SR - g

SERIES-B-C

9
0

Ahib a0




Q20

Q21

LM-B

Select the option that is related to figure (C)
in the same way as figure (B) is related to

figure (A).
Aﬁlﬁb::OQ,?
a6 d (& o
(Al (Bl i€l

(A)

(B)

(€)

(D)

i S =20 | &
OO0 |00 [O&# |00

Identify the odd word.

Square, Triangle, Rhombus, Sphere, =

Parallelogram, Rectangle, Circle, Pentagon, &

Hexagon
(A) Trangle
(B) Sphere
(C) Circle
(D) Hexagon

10

Q20 a famwen o, frre amgf (C) @ W

S & ) waw 8, S anpf (B) @

IPRT (A) & | & |
as|, [&p]..[00,,
# N[04 |& 0o
2 0
“ 18 O
O £
10 O
“18 O
¢ O
(D) o o

faym g o gEEE H)|

o, (e, A, Ten wEieR
(A) P
(B) e

(©) 3
(D) wE@m
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LM-B

The list given below contains figures which
have something in common.

Cylinder, Cuboid, Sphere, Prism, Pyramid,
Cube

From the below given options, identify the
one that can be classified as part of this list.

(A) Rhombus
(B) Cone

(C) Square

(D) Parallelogram

Study the Venn diagram given below and
identify which option is correct with

reference to the diagram.

.

Aeroplane

(A) Some birds are not acroplane.
(B) Allaeroplanes are birds.
(C) Allbirds can fly,

(D) Some aeroplanes can fly.

11

Q22 9 & wd [elr ¥ WA anepfat witafera

Q23

g ol 39 awafeo (am) &)
a0+, wm, Mo, e, fAafie, a9

A fay v Rewt & 4 ow e H
uEar #Y O 0 I & W @ %y
aiftga o o woar &

(A) wweef
(B) g
(C) =

(D) wieR wpfer

A2 RBA v & arg &1 e o afw

uge- % B ar fwer s & vl i
HEl B

¢
RS
(A) %o wf argar -8 &)
B) Wit argar vt &)

(C) wft ueht 9% Wt &)
(D) Y FYAF T W 8
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Q24 Two positions of a dice are shown below. If § Q24 vH U 9 = Ruftat e guid 0 8

Q25

number 6 is exactly opposite to number 3,
then which number is exactly opposite to
number 2?

(A) 1
(B) 4
(C) 5
D) 6

In the figure depicted below, if the pentagon
is rotated anti-clockwise 270° once and the
triangle is rotated clockwise 270° twice what
will be the final figure ?

@

(A)
(B)
(€)

D)

&
S
&
©

LM-B

g
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Q25

afe e 6, @ 3@ S fAgda 8,
wEm 2@ dfe foda o W e
rft?

(A) 1
B) 4
© 5
(D) 6
A Tutd i sy A, ol dmw W
U% AR amEd 270° gamn s # af
e &1 @) IR <@omed 270° gEEn
wrn &, o uRenfim sl S erfi?

(A)

(B)

(©

(D)

B® 08 ©
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SECTION-2 | GENERAL KNOWLEDGE | 50 QUESTIONS

Q26 Lucknow in Uttar Pradesh is famous for

Q27

Q28

which of the following handloom production
centres?

(A) Khariprinting

(B) Saris

(C) Chikan work

(D) Brocade fabric

Firozabad, a city in Uttar Pradesh, is famous
for which of the following industries?

(A) Saris

(B) Cement

(C) Glass

(D) Locks

Who among the following did NOT provide
assistance to the British in suppressing the
revolt of 18577

(A) Scindia of Gwalior

(B) Begum Hazrat Mahal of Awadh

(C) Nizam of Hyderabad

(D) Sikander Begum of Bhopal

LM-B
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Q26

Q27

Q28

ST WEY & " Y et §
¥ e suawwl (Beam) oogs =1 @
forg witeg &2

(A) @ flfen

(B) WS

(C) R s

D) 78 B P

IR e &1 e famare, i
i e wum & fo wfeg &7

(A) W

(B) e

(C) ®fa

(D) ard

frafafea % 4 5w 18579 fge &
T @ oy i &1 wera v
HI?

(A) marieray & fferan

(B) @ 3t 4 FI HEA

(C) t=wwe @ fFom

(D) #ured @t fPet a7
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Q30

Q31

Q32

LM-B

The decision to effect the Partition of Bengal
was announced by the Government of British
India on

(A) 7August 1905

(B) 19 July 1905

(C) 16 October 1905

(D) 1 September 1905

Who was the leader of the Ghadar
Movement?

(A) HarDayal

(B) Bhagat Singh

(C) Madam Cama

(D) Shyamji Krishna Verma

Who started the Mahad Satyagraha in
Maharashtra in 19277

(A) Mahatma Gandhi

(B) Sardar Vallabhbhai Patel

(C) Dr.BR Ambedkar

(D) Jyotiba Phule

Which of the following Acts was based on
the Montagu-Chelmsford Report?

(A) GovernmentofIndiaAct, 1892

(B) Government of India Act, 1909

(C) Government of IndiaAct, 1919

(D) GovernmentofIndia Act, 1935

47 TOLE30

14

Q29

Q30

Q31

Q32

fafear e wvaw 7 e @ e @
AN @ & ot ) aon Fa @i o
(A) 7 3rT 1905

(B) 199cE 1905

(C) 16 IFTET 1905

(D) 1 Ryeraw 1905

(A) B T
B) wra g
(C) #sw T
(D) vt Fwr

1927 ¥, #ER1E # W&re wE e
HN o ar?

(A) AT TN

(B) HRER o199 Ul

(C) < . IR afdsar

(D) waferar Bt

Frefofaa & @ o9 W aftfam
Aicrg—arawre RO ux amenfa e?
(A) W wRer afafam, 1892

(B) ¥ia wwaR arfafam, 1909

(C) e waR Afefam, 1919

(D) WRa \w&R afefas, 1935
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Q33

Q34

When did the Muslim League join the interim
government under the leadership of
Jawaharlal Nehru?

(A) 2 September 1946

(B) 14 September 1946

(C) 24 October 1946

(D) 14 November 1946

Who was the chairman of Boundary
Commission for India and Pakistan which
was announced by Lord Mountbatten in
19477

(A) Lord Curzon

(B) Lord Wavell

(C) ClementAttlee

(D) Cyril Radeliffe

Q35 The latitudinal extent of India is from

Q36

northto  north.
(A) 8°2°;37°4°
(B) 8°4’;37°6°
(C) 8°7;371°9
(D) 8°3°;37°5°

Which one of the following rivers does NOT
fall in the Gulf of Khambhat?

(A) Mahi

(B) Sabarmati

(C) Koyna

(D) Tapi

LM-B
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Q33

Q34

WaEReE Aew @ Age # gftes o,
Fae wen A %e wiwfea gd o4
(A) 2 Rcaw 1946

(B) 14 R 1946

(C) 24 Iragay 1946

(D) 14 71997 1946

1947 % & Wgedes grT it 9RT
IN ufdwm & g ¥ amm &
aeE P &7

(A) ©fE BuA

(B) ©ife daw

(C) Fefiie qee

D) fofte Yefes

Q35 WRd =1 ey fAwr Sl

Q36

_ wwas 2l
(A) 8°27;37°4
(B) 8°4;37°6’
(C) 8°7';37°9°
(D) 8°3';37°5

frafofa % @ @ @ 98 @ A
wrél ¥ w1l fad 87

(A) HTEI

(B) Wi

(C) ®

(D) Tmdr

SERIES-B-C




LU LR

Q37

Q38

Q39

Q40

LM-B

Which is the highest point of the Meghalaya
Plateau?

(A) Khasi-Jaintia Hills

(B) GaroHills

(C) MikirHills

(D) Shillong Peak

As per census report of 2011, which of the
following states does NOT have tribal
population?

(A) Haryana

(B) Goa

(C) Gujarat

(D) Bihar

The Bhutia tribe, widely known for their
traditional grandeur, art and cuisine are found
in state.

(A) Sikkim

(B) Nagaland

(C) Arunachal Pradesh

(D) Tripura

Which one of'the following states has the
highest population density according to the
2011 Census report?

(A) West Bengal

(B) Kerala

(C) Uttar Pradesh

(D) Bihar

16

Q37

Q38

Q39

Q40

HETSTd YoR & Had Sd 918 S A
2?7

(A) wri—wafar geifedt

(B) T EIfEEt

() fafre ysifedt

(D) R @

2011 @ W ROE @ eER,
fr=fafaa & & 5w oo 3§ wwonde
G El 87

(A) sRamm #

(B) "ar #

(C) "o #
(D) fEm #

yfear sranfay, i et uNaRe W,
el AR A @ for ame w9
WA wiRlt 8, fre wow ¥ i owh 89
(A) fufewq ¥

(B) #nmers #

(C) 3rovmree ew #

RER

2011 & wEeET RO @ e,
=T 4 W frw v # Seen
e WAl 87

(A) uf¥es gma

(B) &

(C) ST wew

(D) fasr
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Q41

Q42

Q43

Which region in Andhra Pradesh is actively
engaged in the production of petroleurn?
(A) Mahanadi Basin

(B) KrishnaGodavari Basin

(C) Narmada Basin

(D) CauveryBasin

Mount Elbrus, one of the highest peaks in
Europe, issituatedin

(A) Germany

(B) Switzerland

(C) Russia

(D) Ukraine

Which article of the Constitution of India
(A) 14
B) 13
© 17
(D) 26

LM-B

Q41

Q42

Q43

e waw o FrefaRea § 9 @9 was
wira w9 # dgifam & Iare | gw
.14

(A) el AR

(B) P wiarad AR

(C) et R

(D) wad ARk

R & e uda et 3 9 ue ke
T S8 Rem &7

(A) wrfh

(B) Racurds

(C) &

D) g

wedia wfam & Frafafe § @ @
W s s wwr o orq @
A AT § w27

(A) 14

B) 13

() 17

(D) 26

TR

oA
s
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Q44

Q45

Q46

LM-B

Provisions regarding the promotion of
international peace and security are outlined
asapartof  ofthe Constitution of
India.

(A) Fundamental Rights

(B) Directive Principles of State Policy

(C) Fundamental Duties

(D) The States

Who is the appointing authority of the
Governor of a State in India?

(A) Prime Minister of India

(B) ChiefMinister of the concerned state
(C) The President of India

(D) The Central Cabinet headed by the

Prime Minister of India

Who was appointed as the National Security
Advisor of Indiaon 31 May 20197

(A) MK Narayanan

(B) Brajesh Mishra

(C) AjitDoval

(D) INDixit

LpGLGELY

%
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Q44

dfevrsa wife v e @ qgrEr <
# Wi wewE, Wi w@fes @
frfafa 7 @ fws e v & w9 4
Sfeafag &

(A) e st

B) s & Ay Frdus Rigia

(C) #iferes wele

(D) Wl

e ¥ e woa @ wouure @1 gl

wiftrer® Freafeafes § @ @9 & &

(A) WRE & WEEE

(B) wafew vwou & @

(C) ARG @ wreufe

(D) R & WEFHE o) e § ey
LIELER]

31 7§ 2019 & ¥NG & WS GuEm
WeTedR @& w0 # & fgaa far man
e

(A) UH®, AR

(B) worwr s

(C) arsira Spiret

(D) w1, Fifdra
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Q47 Which of the following statements is
INCORRECT?

Q49

(A) The procedure for impeachment of the
President has been described in Article
61 of the Constitution of India.

(B) Impeachment motion can be presented
in any house of the Parliament.

(C) Impeachment resolution can be passed
by a majority of not less than two-thirds
of the total membership of the House.

(D) The President could be impeached for
violation of national security,

Who was appointed as the Finance Minister
of India on 31 May 2019?

(A) ArunJaitley

(B) PiyushGoyal

(C) Nimmala Sitharaman

(D) Rajnath Singh

According to a G-20 surveillance note,
prepared by IMF in June 2019, India’s
economy isexpectedtogrow ___ in
2019.

(A) 6.3%

B) 7.3%

(C) 83%

(D) 9.3%

LM-B

Q47 frwfaftaa 4 & @ w FoF Toaa 27

Q

ovagenrs

48

49

(A) 9I¥e @ wfaur & areE 619
gt & weifnT @ ufsar &
gul faar wam )

(B) weianmT yaE wag @ e o
e W uedd fpar S wean 2
(C) werhvdrT wemE, W89 & Set el
@ q-foeE ¥ e gg9a @ aRa

faar i wwar #)

(D) Wl ov Ify Re & Soeiue B
o wmfiaer aeen o awar #1

31 % 2019 &1 9RG & ey w1 & vy ¥
fFrferftaa 4 @ foser Frgar e war ar?
(A) 3B SiEa

(B) gy e

(C) Frder wremeor

(D) Wy fife

S 2019 # AR, (IMF) g9 TR
Wi-20 Fremelt oo & sraEr, 2019 #
W & Siefagaver Ho fa ufoe gen
@ aHfE 87

(A) 6.3%

B) 73%

(€) 8.3%

D) 9.3%
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Q50

Q51

Q52

LM-B

Mabhila Shakti Kendra (MSK) under the
Umbrella Scheme Pradhan Mantri Mahila
Shashaktikaran Yojana (PMMSY) has been
approved for implementation during .
(A) 2016-17
(B) 2018-19
(C) 2017-18
(D) 2015-16

Mahatma Gandhi wasagainst___ of
India.

(A) slow industrialisation

(B) rapid industrialisation

(C) Britishmode of industrialisation

(D) American mode of industrialisation

Who among the following was swom in as
Chief Minister of Arunachal Pradesh on 30*
May 20197

(A) Jarbom Gamlin

(B) KalikhoPul

(C) PemaKhandu

(D) Nabam Tuki

LPELELLY
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Q50

Q51

Q52

yaEEa after anfwso atw
(PMMSY) & afmfa wfiden ofdm &a
(MSK) & Praferftaa o @ 5w safl @
v st & foe arpifaa faa
87

(A) 2016-17

(B) 2018-19

(C) 2017-18

(D) 2015-16

e MM Aa & @ fRwg A
(A) ¥ sirenfidism

B) W afrenfidm

(C) ahenfiraar A RAfRw vk
(D) atenfiraiave @ P agf

frafafiaa § 4 e 30 %€ 2019 91
IJTIEA WSW B @A @ B A 09y
TR A7

(A) e dAnfeE

(B) wieral qei

(C) T Wiy,

(D) Tam B
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Q53

Q54

Q55

Which of the following cyclones badly
affected the coastal districts of Odisha in
May 20197

(A) Cyclone Sani

(B) Cyclone Fani

(C) Cyclone Tani

(D) Cyclone Kali

Which one of the following teams won the
Indian Premier League (IPL) trophy, 20197
(A) Kings XIPunjab

(B) Chennai Super Kings

(C) Sunrisers Hyderabad

(D) Mumbai Indians

In May 2019, the Central Government
created a new ministry by merging the
Ministry of Water Resources, River
Development and Ganga Rejuvenation and
the Ministry of Drinking Water and
Sanitation. What is the name of the new
ministry that has been formed as a result of
the merger?

(A) Ministry of Jeevan Shakti

(B) Ministry of Swachcha Ganga

(C) Ministry of Jal-Nadi Vikas

(D) Ministry of Jal Shakti

47157047
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Q33

Q54

Q55

wE 2019 %, Pr=ifafaa % 9 e wmam
3 AR 2 oda Rret B g we
wifaa fear?

(A) EsmarT |

(B) wmart Bl

(C) weam o

(D) wmar Bicil

gfeas @i &w (pL) g6 2019
fr=ifafiaa & 4 fFw &= = o

(A) & goia qome

(B) ¥ g =

(C) W IgaH devg

(D) Hag gRaa

i 2019 %, g TRHR A T TEEA, T
fawre aiv W FwEE dEEg iR
ot afit e Haaa @ Ry s
US 41 §Fr9g F91a7| f|a @
ufRvrasy S 91 SATeg aen T g

IS W T 87

(A) i wifde #=rea
(B) e T HATRY

(C) Sra--14) Rem FAwy
(D) wid 9ifds #=eg
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Q56 Which country conferred its highest honor,

Q57

Q58

LM-B

the *Nishan lzzudeen’ on Indian Prime
Minister Narendra Modi in June 20197
(A) SriLanka

(B) Maldives

(C) Nepal

(D) lsrael

is a famous 49-year-old veteran
Nepali Sherpa who scaled Mount Everest
for the 23" time in May 2019,
(A) Tenzing Sherpa
(B) Kami Rita
(C) Appa Sherpa
(D) Phurba Tashi

India is estimated to have produced

million tonnes of food grains (rice and
wheat) during 2018-19.

(A) 18337

(B) 383.37

(C) 28337

(D) 48337

L7051 POLT
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Q56 S 2019 ¥, R Wer=HAT ¥ Ad @

Q57

Qs8

Frefefes § & e 2w 3 o waten
e, T gl @ wenfa e
or?

(A) shdsr

(B) AeSa

(C) ard

(D) oI

v uvg 49 iy Qe Yardh
e # st w1 2019 % 23 aw wide

vawe 9 e g @ 8

(A) TR dwar
B) F W
(C) 3T ¥Ry
(D) e it

2018-19 ® R WRT ENT d fer
fafergs &1 s (ama sk 1) @
S 5y S @ ager &2

(A) 18337

(B) 38337

(C) 28337

(D) 48337
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Q59 Which state produced the largest amount of

Q60

Q61

Q62

rubber in India in the year 2017-18?
(A) Kerala

(B) Andhra Pradesh

(C) Odisha

(D) Karnataka

Which of the following share is contributed
by the Agriculture and allied sector in the
India’s gross domestic products, 2019?
(A) 14.39%

(B) 29.73%

(C) 15.87%

(D) 31.46%

What is the child sex ratio of Uttar Pradesh
as per Census report, 2011?

(A) 898

(B) 912

(C) 916

(D) 902

Which of following valleys is NOT situated
in the Himalayan Mountains?

(A) Karewas

(B) Bhagirathi

(C) Kathmandu

(D) Araku

LM-B
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Q59

Q60

Q61

Q62

2017-18 % Fr=fofaa F 9 fm v 3
T W wad At @ o1 Iaures fhar?
(A) T

(B) 3T waw

(C) =nfe=m

(D) Pl

T @ Aol Hve] IedTg, 2019 ¥ iy
iR Hag &3 g g et wfter s
&1 AR T g3 87

(A) 14.39%

(B) 29.73%

(C) 15.87%

(D) 31.46%

SO RUTE 2011 & SFHR, SR W49
¥ a1 fermuT @ 87

(A) 898

B) 912

(C) 916

(D) 902

frafofaa 4 @ o @ o, R
uda e # e 78 87

(A) @ar

(B) wrired

(C) oIy,
(D) 3
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Q63

Q64

Q65

LM-B

Who was the first woman Governor of a
state in Independent India?

(A) Sharda Mukherjee

(B) Vijayalakshmi Pandit

(C) Margaret Alwa

(D) Sarojini Naidu

According to IMD World Competitiveness
Rankings, 2019, Indiaranked in
world’s most competitive economy.

(A) 14%

(B) 24%

©) 43¢

D) 51¢

Bombay Stock Exchange appointed
as its first independent woman

director in May 2019.

(A) Jayshree Vyas

(B) Jayati Ghosh

(C) Rohini Pandey

(D) Devaki Jain
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Q63

Q64

Q65

oA W H e wow @ wem wften
AT B off?

(A) e e

B) facast dfeq

(C) wrive e

D) AR g

RS (IMD) fawa uftreast $5 2019
& AR, fiva o walfe wiaufems
aeferawen @ WA A ARG 4
I e fosar 2

(A) 14*

B) 24%

(C) 43¢

D) 517

g WR AR AT 20197 @)
Y Wor WA Wi FRee @ Wy ¥
g fam

(A) A =re

(B) wwfey s

(C) Dfeeft uig

(D) <T@l S
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Q66 Which of the following keyboard shorteuts Q66 Py=irfaet # #  of veet -

displays the Start menu in the Windows
operating system?

(A) Cirl+Z

(B) Alt+ Spacebar

(C) Ctrl+Esc

(D) Alt+Enter

Who among the following is known as the Q67

‘father of computing™?
(A) Charles Babbage
(B) Tim Bemers Lee
(C) Philip Don Estridge
(D) James Gosling

Windows 10 was first released as a preview
on which of the following days?

(A) 1January2013

(B) 12July2014

(C) 1 October 2014

(D) 12 December2015

LM-B
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Q68

(@ ad widwe) e wara womeh
(eimfEn Riwew) § =’ ¥ o auid
#?

(A) Ctrl+Z

(B) Alt+ Spacebar

(C) Ctrl+Esc

(D) Alt+Enter

Prefaftr % 9 fw afa a1 sgfen
@ D B WY F o e &7

(A) o o

B) fou off

(©) Mfera ¥ wRgw

(D) o= Aifke=r

fi@ra 10 % vgat ve @ivaea @ w
# Prefafea 4 4 e e o s
Tar «ar?

(A) 1 wad 2013

(B) 12 9ard 2014

(C) 1 3ywgaY 2014

(D) 12 RRwav 2015
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Q69

Q70

Q71

Q72

Every year, in which of the following districts
of Uttar Pradesh is Bateshwar Mela
organised?

(A) Kanpur

(B) Varanasi

(C) Mathura

(D) Agm

What is the suitable time of sowing the
indigenous variety of cotton (kapas) in Agra
district of Uttar Pradesh?

(A) First fortnight of April

(B) Mid-April

(C) First fortnight of May

(D) Mid-May

As per Census 2011, what is the population
growth percentage of Uttar Pradesh?

(A) 2021%

(B) 20.23%

(C) 2030%

(D) 2032%

In which of the following districts of Uttar
Pradesh is the Union Government’s opium
factory located?

(A) Varanasi

(B) Ghazipur

(C) Ballia

(D) Kanpur

LM-B

4T35TAT

Q69 TTR w2y 3 Fr=ferfam § 9 fvw fra &

Q70

Q71

Q72

yfa ot s2var den arnfoe R s
&7

(A) FFgY

(B) ARV

(C) wg
(D) 3wt

IR w29 By e # v (@) 91
wel el & qad & SugE @
frfafiaa 4 9 @19 @ &7

(A) IS & UBAT YEATS

(B) e &1 ey

(C) W& T UFe YIS

(D) #g &1 T

af 2011 @ GO B FTER, I
wew @ s o gf wftem aar 87
(A) 2021%
(B) 2023%
(©) 2030%
(D) 20.32%

e vaw & Prsifaf i @ fvw Ra g
BE waR B AP B B Rew 87
(A) AR
(B) TR
(C) afermm

(D) FFgR
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Q73 In which of the following cities of Uttar

Q74

Q75

Pradesh is Modern Coach Factory, a rail
coach manufacturing unit of the Indian
Railways, located?

(A) Racbareli

(B) Mughalsarai

(C) Prayagraj(Allahabad )

(D) Lucknow

Kashi is a famous Indian pilgrimage centre
sitmfed in Uttar Pradesh. It is located on the
banks of the river.
(A) Gomti

(B) Saryu

(€) Yamuna

(D) Ganga

In which of the following cities of Uttar
Pradesh is the Government College of Arts
and Crafls located?

(A) Lucknow

(B) Kanpur

(C) Varanasi

(D) Gorakhpur

LM-B

4TNETAT
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Q73 uw wew & Frafafas 4 9 fvg wee i

Q74

Q75

i Y& B B P wE, smfe
¥l wra dagt (e @ dah) fow &2
(A) vaaveh

(B) e

(C) WIS (§TETaTs)

(D) o@T%

SR waw H e a1l va uftig wd
el @ @1 7w Preiferfea & @ fva wd)
@ e v Rea #7

(A) Tprd

(B) ¥y

© =g
(D) T

IR 2w & FrefeiRea & 9 5w wee d
RN el G e Aefigae (i
Pic 3w e U migew) Rea 87
(A) TS
(B) wrqe
(C) ammomH

(D) "REgR
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Q76

Q77

Q78

Q79

SECTION-3| GENERALSCIENCE /ARITHMETIC | 50 QUESTIONS

Why is immunisation against common cold

NOT very effective?

(A) No vaccine against common cold has
been developed.

(B) Common cold occurs due to climatic
conditions.

(C) A large number of strains of thinovirus
is present thereby making immunisation
ineffective.

(D) The causal organism for common cold
has not been identified till now.

The Nobel Prize for 2018 in the area of
Physics has been awarded for the work in
the area of:

(A) Laserphysics

(B) Black hole

(C) Magnetic resonance

(D) Gravitational wave

Which of the following food items would
have highest per-gram calorific value?

(A) Ghee

(B) Maize

(C) Rice

(D) Meat

Ultrasound waves are NOT used for which

ofthe following purposes?

(A) To locate its prey by a bat

(B) To know the depth of sea bed by a

ship

(C) Todiagnose defect in internal organs
ofhuman body

(D) Todetect aeroplane in any air space

LM-B
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Q76 wmra wa-gwm & vy S

Q77

Q78

Q79

s wdt @t S g 87

(A) T wéi-gam @ g @ A
o Rafia wd fvar man &)

(B) M wEl-gpm vrerary iRt
& BN B &)

(C) 37 drdt F wg=hargva & RAfv=
R faemms wa € o Seee
®I Iy @ 3 &)

(D) "M HE-geM & fay dTeRs
Wia @ ggaE o aF T8 gf )

A @ &5 4 2018 T A BN
Prefefaa # & e &= 4 fe o ot
& fag faan T 87

(A) o Hifedt & fag

(B) @& 81 @ fory

(C) gaama arfe & fory

(D) T ¥ @ fery

Fr=fefaa 3 9 5 @ el § 9=
wfe am e AF g 87

(A) &t #

B) #aw! #

(C) e #

(D) w4

frfarfiaa 4 2 frn odw & for mea

TR (repTarde den) @ wanT el

W 87

(A) TTTES g AvA R @1 e
ERisl

(B) Wie—did g1 WHE & T8 & TV
R

(C) wa 8 & arfafles aivi ¥ 2l &1
e e

(D) 3T &= ¥ argarE @1 gar |
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Q80 Identify the INCORRECT statement about

Q81

Q82

Q83

water cycle from the options given below.

(A) Evaporation of water facilitates cloud
formation. -

(B) Water vapour comes in atmosphere
through transpiration only.

(C) Melting of snow is a part of water cycle.

(D) Sunlight isalso responsible for
evaporation of water.

Count of coliform bacteria provides an idea

of

(A) E coliinfection in blood

(B) presence of E. coli in intestine

(C) microbial contamination in river water

(D) microbial contamination in packaged
food

Solve the following.

42-2(025+164+4x3 -4 x4)+5=7
(A) -5

®) 4

(©) -4

D) 5

If 1.5a = 0.2b , then fimd the value of
(Ga-5b) 4

(Ba+5b) 27°

(A) 1

®) -1

(©) 2

©) -2

IVBLIZIY
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Q80 v Ry 7y T ¥ | ow o &

Wae A THa FUA P UEAE

(A) oIt & arefienvo | argal @1 o
Brem 1

(B) It a1 dael aTETeHuA & ARy
A & argrsa § amdh §)

(C) a9 &1 Rue=r 5a 95 &1 @ 9
2l

(D) wid & arefiever & fog w4 &
uwTe f STRerE g &)

wreieh SRt @t den Prefafaa
4 9 9P R 4 vF I veE e
27

(A) v # & Flog 1w

(B) s % & @ierg =1 suftafy

(C) 7€) & wial § @Al Hewwr

(D) fFEamae wom # geid wguv

fr=fefa 1 ga =¥

42 -2(2541624x3 -4 4)+5="
(A) =5

(B) 4

©) -4

(D) 5

R | 50=026 B A

Ba=3b) 4 1 am a7 erm?
(a+5b) 27

(A) 1
B -1
© 2
®) -2
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Q84

Q85

Q86

Q87

LM-B

The product of the LCM and HCF of two
positive numbers is 72 and the difference
between these numbers is 6. The sum of the
numbers is:

(A) 6

B) 12

(C) 18

(D) 24

Solve the following.

236-3.05+433=2
(A) 354
(B) 334
©) 344
(D) 333

If 81 » 64° x 40 x 25V = 40°,
then what will be the value of a?
(A) 0.5

(B) 0.7

(C) 09

D) 1

By which of the fo'lowing largest number
should 2270, 3739 and 6677 be divided to
obtain the same remainder in each case?
(A) 1459

(B) 1469

(C) 1479

(D) 1489

s i
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Q84 T T HEARl @ A WS

Q85

Q86

Q87

(LCM) 3 wgem wmad® (HCF) &1
TOHEEA 72 8 3R g9 el A 6 @
3R B <Al & dann @ e
(A) 6

(B) 12

(©) 18

(D) 24

frafaftaa &1 ga &)

236-3.054433=7
(A) 364
B) 334
© 334
D) 333

afE 812 x 64° x 40™ x 25V =40°8, W a
A T B?

(A) 0.5

B) 0.7

(C) 09

™ 1

vT fRaft A wigen 9w wra A @
fore Wit 2270, 3739 aft 6677 @1
foraferftas 3 @ fv 9 @ ) wen 9
fermfire fsan wien anfdg?

(A) 1459

(B) 1469

(C) 1479

(D) 1489
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Q88 XandY are two compounds formed by the

089

Q%0

combination of silver and copper in the ratio
of4:3and 4 : 7 respectively. Equal quantities
of these two compounds are melted and
mixed to form a new metal Z. Now metal Z
contains silver and copper in the ratio of:
(A) 41:33

(B) 41:36

(C) 33:41

(D) 36:41

If Raju camns 20% more than Vijay, by what
percentage is Vijay's eaming less than that
of Raju?
(A) 25%

50
®) 5%

40
[C] ? %

20
© 3%

A mobile was sold by two mabile sellers at
atotal gain of 45%. If the first seller sold it at
a gain of 25%, then how much gain
percentage did the second seller achieve?
(A) 20%

(B) 18%

(C) 16%

(D) 14%

LM-B
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Q88

Q89

Q90

X 3R Y2 A € o e 43 3R
4:7% Jqum ¥ ikl R AR B P |
¥ 8| & <9 et A wEE A
fraemay va 7 Ms—urg z fffa &
ol 8 | e, Ms—arg 2 7 =id v @i
T AT T ET?

(A) 41:33

(B) 41:36

(C) 33:41

(D) 36:41

aft v, Ao | 20% s sm aftfa
v &, o Row gw sl am oo
arr aifota sma @t gen § e s
an 87

(A) 25%

50
B) T%

40
3%

20
3%

(©)

(D)

U Aiarge, < s Rl grn 45%
@ A A IR 491 747 AR vES A
T EW 25% B A W 49 €, o g
fogpen = frey witvee @e7 wrar fsan?
(A) 20%
(B) 18%
(€) 16%
(D) 14%
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Q91

Q93

Q94

LM-B

A father and son working together can finish
a piece of work in 24 days. If, for the last 6
days, the father alone works, then the work
is finished in 26 days. In how many days can
the son alone finish the work?

(A) 72

B) 70

(C) 68

(D) 66

X, Y and Z completed a piece of work
costing T 4,480. X worked for 4 days, Y
worked for 6 days and Z worked for 8 days.
If their daily wagesare inthe ratio 5:6: 7,
how much amount will be received by X?
(A) T800

(B) 21,200

(C) T2,400

(D) T 3,000

A train leaves Hyderabad at 7 am and
reaches Vijayawada at 11 am. Another train
leaves Vijayawada 9 am and reaches
Hyderabad 12.30 pm. At what time would
the two trains cross each other?

(A) 9:50am

(B) 9:56am

(C) 10:02am

(D) 10:08am

A tank 9 m long, 4 m wide and (1/3) m deep
is dug in a field 24 m long and 14 m wide. If
carth dug out is evenly spread out over the
remaining field, the level of the field will rise
by:

(A) 4.5cm

(B) 5cm

(C) 35cm

(D) 4cm
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Q91

Q93

Q94

% far ol 1= freaw e o @1 24
o=t % g o waa &) af?, siftm 6 2=
fien s/t @ @wen & o w26 T
TG B e € | g Ade e R
4 o g w wwar §7

(A) 72

(B) 70

(C) 68

(D) 66

X, Y 3R Z 9 14,480 B arma T UH
o1 qof fean) X3 4 s wd s, YA
627 3R 29 8 R od fsmn) aR
T e A 5:6: 7 U 2,
ar X 91 e aa—of Raf?

A) 7800

(B) 1,200

(C) % 2,400

(D) T 3,000

TF WIS qas 7 a0 fTvEg § wer
! & 3 gaw 11 79 Rorgarer ofadh
21 t& I Yamd Romarg § g4 9
ol TR w8 3R SuEw 1230 7
e vgad 8 9 Yemfddt e
TR B 5w o an H6?

(A) Ga® 9:507

(B) §IE 9:56 1

(C) H=E 10:02 9

(D) |aE 10:08 T

24meid AR dm¥E @ WAad A 9m
w4, 4 m e 3 (1/3) m T U E
et T & | aft @) 1y R @ e
w9 H 9 A § daan wg, @ @9 H
Far et ag wgef?

(A) 4.5¢m

(B) 5cm

(C) 3.5cm

(D) 4em




Q95 Atapcan fill atank in 8 h. After half of the

Q96

Q97

Q98

tank is filled, four more similar taps are
opened. What is the total time taken to fill
the tank completely?

(A) 4h46min

(B) 4h48min

(C) 4h38 min

(D) 4h30min

01-01-2012 was a Sunday. What day of
the week was on 01-01-20137

(A) Tuesday

(B) Wednesday

(C) Thursday

(D) Friday

Read the following statements and select the
correct option.

1. In60 min, the minute hand gains
55 min on the hour hand.

2. Aclock is started at noon. The angle
traced by the hour hand in
5h 10 min= | 50°,

(A) Only statement | is true
(B) Only statement 2 is true
(C) Both the statements are false.
(D) Both the statements are true.

Inatriangle ABC, if £ A=90°, then;
(A) SinA=SinB

(B) SinA=—SinB

(C) SinA=CosB

(D) SinA=—CosB

LM-B
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Q95

Q97

U Ael 8 62 ¥ U T BT WY £ |
I T W o B 918, 9 weR @
TR AN wF A9 @ e § ) 2 &
o WA % g feam wwg &n?
(A) 492 46 fyFre

(B) 4 e 48 fiFre

(C) 442 38 firre

(D) 452 30 fiyre

=@ 01-01-2012 3 IR o1| B=F
01-01-2013 T} H<ATE FT S+ & a1 ar
(A) #HTerar :

(B) qHaR

(C) o

(D) Ymar

FPr=fafam Tuet & 92 ofv o6 Res
|

1. 60 firre ¥ farie o e ©e A o
W 55 fFre amt B &)

2. UF O§ TUE S HHY A B
w81 562 10 e 9 w8 @ ¢
BT AT AT BT 150° &)

(A) ®ad DT | T B
(B) @ad PYUA 2 el B |
(C) & T ey 1
D) =Ft Fu T &)

Q98 famul ABC ¥ afd £A=90° & o wf

fawey g1

(A) SinA=SinB
(B) SinA=—SinB
(C) SinA=CosB
(D) SinA=—CosB
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Q99 Ifx* - 3x+1=0, then the value of Q99 TR 2 —3x+1=08 W+x+(1/kx) +

X+ x4 (1/x) + (1/4¢%) will be: (1/x%) &1 51 a1 sy
(A) 7 (A) 7
(B) 8 (B) 8
€ 9 € 9
(D) 10 D) 10
Q100 Angles A, B and C of a triangle are in Q100 fsit Prgwt @ o @1 A, B 3w C
arithmetic progression. AM is perpendicular wafer Aot 3 & afiv AM, BC WY @a
to BC. Find the value of BM/AB. &1 BM/AB 1 5[ &1 8F117
(A) 1/4 (A) 1/4
B) 13 (B) 13
(€) 112 (C) 12
(D) 3/4 (D) 3/4
Q101 10 is the mean of a set of 6 observations EQ“}I 6 VeVl @ Wy H A 10 8 ik 4
and 5 isthe mean of a set of 4 observations. % Yl @ wywa @ W 5 8 b

The mean of the combined set is: WAl B AEa w1
(A) 7.5 (A) 7.5
(B) 8 (B) 8
(€) 85 (C) 8.5
(D) 9 D) 9
Q102 If20%of A=0.350f B= % of C, then Q102 afe AT 20% =B 035=CH % g
A:B:Cisequalto: r A: B : C fwa soreg grm?
(A) 14:8:7 (A) 14:8:7
(B) 12:8:7 B) 12:8:7
(C) 11:6:5 \ (C) 11:6:5
(D) 13:8:5 (D) 13:8:5
Q103 15 litres of a mixture of milk and water Q103 15 °1ex g0 X Wl @ fAsor # 5% oret
contains 5% water. How much pure milk B 2% Wia a1 v wre s 3 e
should be mixed with it to get a mixture Fenl fver g g faman s wifde?
containing 2% water? (A) 20.5 #ex
(A) 20.5litres (B) 21 wiex
(B) 21litres (©) 21.5 e
(C) 21.5 litres (D) 22.5 dftex
(D) 22.5 litres
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Q104 A and B together can complete a task in 9

days, whereas B and C together can
complete it in 15 days. All three can complete
the task in 6 days. In how many days will A
and C together complete the task?

|
(A) ﬁ;

(B) 6

0 6=
(©) 63

o
D) 65

Q105 Two pipes, A and B, can fill a cistern in 36

min and 45 min respectively. Both the pipes
are opened together in the cistern. After how
much time should A be closed so that the
tank is full in 25 min?

(A) 13min

(B) 14min

(C) 15min

(D) 16min

Q106 Ifa' + b* =g, then a* + b® is equal to :

(A) 0
®) 1

© a+¥
(D) &b+ ab’®

4 TBESHNG

Q104 A3l B fieat v wrf 9 Rt 3 qof v

wanl 8 e B alw C e g9 15
&=t 4 gof o v &) &1 e am
ey @ 6 faet & qof v wad 81 A
MR Cuw v foex a8 o
fe=it # quf #d?

l
@) 65

®B) 6

4
© 6;

3

(D) 63

Q105 <1 wigy A 3k B U& s (Rwed) =

wma: 36 e afiv 45 fire 3w waa
21 57 2 urgwf @ g (Rwed) § ve
W e o 81 AP e Wi ag
4z fan v wfde 6 ge (Feed) 25
fiFe A we ame?

(A) 13 fFe

(B) 14 fiFre

() 15 fime

(D) 16 fame

Q06T o' +b'=a & T a*+b* e
A B

(A) 0

B) 1

(C) &+ ¥

(D) a*b + ab?




Q107 Which of the following organisms is a
colonial form?
(A) Amoeba
(B) Chlamydomonas
(C) Polysiphonia
(D) Volvox

Q108 ldentify the INCORRECT statement about
class insecta from the options given below.
(A) Ithasthree pairs of legs.
(B) Ithas joined legs.
(C) Ithas one pair of legs in each body
segment.
(D) Ithas legs present in thoracic ssgments.

109 Ultra filtration and reabsorption process
takes place during the:
(A) circulation ofblood in vessels
(B) transport of gases through blood
(C) excretion and urine formation
(D) exchange of gases during respiration

Q110 How much percentage of fresh water is
available on earth?
(A) 30%
(B) 03%
(C) 03%
(D) 0.17%

LM-B
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Q107 F=fefe 49 @ w ofg s Safaa
& w@eu i wwar &7
(A) arfran
(B) FawEaEHEE
(C) diehfemifan
(D) dferdia

Q108 = Ry 7v R #§ 9 o g8 (Fe)
@ o | THa FEE B TEaE 5
(A) T & O IR ag o &)
(B) T ¥ 3w # o2 & 8
(C) 7@ wee yR-ws # ta urd)
g 8
(D) g77@ @iy et § & e
W &)

Q109 sifey faeasy v gerarasimor wftsar fare

SR B 27

(A) TfRFrt 4 o wur & e

(B) ¥ @ W | A @ uRags &
AR

(C) weream afv = fFmior 3 e

(D) T@aa & <M el @ IE-ueE
E R

Q110 g wR fase) witrem e o Svde
27
(A) 30%
(B) 03%
(C) 0.3%
(D) 0.17%
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Q111 Which of the following does NOT
contribute to the pollution in water body?
(A) Heavymetal
(B)  Ozone
(C) Microplastics
(D) Pesticide

Q112 Which of the following is NOT a greenhouse
gas?
(A) Water vapour
(B) Nitrous oxide
(C) Ozone
(D) Carbon monoxide

Q113 Methyl orange indicator changes its colour
at which pH value range?
(A) 3.1—44
(B) 1.0-3.1
(C) 44-5.8
(D) 58-7.0

Q114 Pharma vision 2020 is a programme to
develop India as leader in:
(A) Drugmanufacturing
(B) Pharmaceutical research
(C) Providing human resource in
pharmaceuticals
(D) Drugdiscovery

Q115 Inwhich year Capt. Rakesh Sharma travelled
to space in a Soviet space programme?
(A) 1981
(B) 1982
(C) 1983
(D) 1984

LM-B
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Q111 F=fafae § & = oefn e o
BIFaTA W Aprer war Al wvar?
(A) w9 ug
(B) A
(C) wgwraftesd
(D) drETNS

Q112 fFr=fafa & & w o Foeea o
Tel 27
(A) ¥ QMg
(B) EgH Jlfawgs
(C) 3
(D) @+ wniteaEes

Q113 frrge ¥ wadbas et pH WA
W AT I TEAar 27
(A) 3.1-44
B) 1.0-3.1
(C) 44-58
(D) 5.8-7.0

Q114 Tl AW 2020 wva &1 el s
w1 ¥ fefta & &1 = ooy &7
(A) afmfy Prafor
(B) afmfer srge
(C) afmferat % wrg Tam= war s
(D) 3Imf@ & @

Q115 Pew by it = 5w af o v aftas

ey s o arefRer o5 g & 67
(A) 1981
(B) 1982
(C) 1983
(D) 1984
SERIES-B-C




Q116 The Goiter disease is caused due to the
hypofunction of:
(A) thyroid
(B) parathyroid
(€) thymus
(D) pituitary

Q117 The working principle of a transformer is:
(A) Self-induction
(B) Mutual induction
(C) Electromagnetic induction
(D) LorentzLaw

Q118 The wave nature of electrons was first
experimentally established by:
(A) Photoelectric effect
(B) Double slit experiment
(C) Davisson and Germer experiment
(D) Compton effect

Q119 Which is the causal organism of small pox?
(A) Rubellavirus
(B) Variolavirus
(C) Ebolavirus
(D) Cytomegalo virus

Q120 The peptide bond is formed between:
(A) Amino group and hydroxyl group
(B) Twohydroxyl groups
(C) Amino group and carboxyl group
(D) Amino group and carbonyl group

Q121 Sickle cell anemia is caused due to the:
(A) deficiency of folic acid
(B) Abnormal levels of haemoglobin
(C) deficiency of iron
(D) production of less number of RBCs

GCRSDEL ¥

Q116 Her (Wigew) Y fraes sreuftsam &
TVl B #7
(A) g afY (urrigs) 9
B) Iva 1Y (RrmRiss)
(C) &/ ufYr (urgws) &
D) gy ufr (Rreged) &

Q117 uRests (grawniy) few Rrglo o o
e &7
(A) WO
B) gwls gy
(C) Rege-grsm W
(D) & &1 fem

Q118 gerEglE! @ @ yeia @1 wfe wu
d yrel v frud g fag fsar man
) 1 4
(A) v Riggn waE g™
B) B—Ywforn (s fee) v gm
(C) 2w 3l woly wam g
(D) PiFeEs yiTd §RI

Q119 @9% (wife dfew) &1 Jrrens ot @
wl &7
(A) waen
B) & Ry
(C) Faren fam
(D) wrgerTEY faumg

Q120 Terge 7 @ i fFes dre g &7
(A) 3rf= e ok eEsifae wiE
®B) = eEgifva wE
(C) ¥ wiE s FEifdaa @iE
(D) 3l iy ofR FEtfe wis

Q121 R #ifrer veewar (Rrea 9«
v frad srer g 87
(A) ©ffors apa %t &0 & a0
(B) Brrafas & s W @ Ry
(C) <iw @ o0 & SR
(D) wra wfoRRt 6 Swfty (anvdid)
# a0 & FEw




Q122 The protein component of food diet is mainly Q122 BHR IS BN BT N U2 e wq

f responsible for: W s fog aoverd 87
| (A) energyonly (A) B st @ frg
| (B) energy and growth ®) i 3 3R B g
| (C) growth and repair (C) If& 3R W & foig
.‘ (D) growthonly (D) #ad gfE & fog
Q123 TheIndian Institute of Chemical Technology Q123 wwidra v deifird s (gfeam
is situated in: FERge I dfea SwFEn) w8
(A) Ahmedabad g 87
(B) Prayagraj (Allahabad) (A) srewamETe
(C) Hyderabad (B) WATI (FeiTerane)
(D) Kolkata (C) Bgvmrg
(D) Wi

Q124 Which of the following microorganisms Q124 vafes (fadd) Ffefaa d 4 @ 9

causes dysentery” RO B HHO BT 87
| (A) Salmonella (A) W

(B) Shigella B) Rrtar

(C) Leishmania (C) eirerhfyar

(D) Plasmodium (D) @rofEan

| Q125 The study of all the factors that are Q125 S5 Wi SIS T AL YT FEAR £

-r responsible for the appearance of a particular E il & e 9 @ ween @ forg avvad
disease is called: ﬁ B &7
(A) Aetiology (A) ufarEio
(B) Epidemic B) ufrdfis
; (C) Endemic (C) vaf
(D) Epidemiology (D) ufrRfmET
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SECTION-4 | GENERAL HINDI | 25 QUESTIONS

Q126 srjvar frwmr wrd wvar 87 Q130
(A) fawnf &1
(B) =wfig ® E
(C) wam avi &1

D) =&

Q127 o Rt @ Swamyr # gar e |
fFread 8, o8 @wd &) Q131
(A) Freits
(B) sgit® w&r
(C) *hit® @

(D) dfea @

QI28 TN @ wWh-fedw T g7
(A) T + W Q132
(B) T+ W
€ F+m

D) |W+ T

Q129 wrwd fw wwre @1 Semwy &7

(A) TegoY
(B) #HuRY

(C) wHgu
D) gf

LM-B 40

Y WA &G AT — qre W Y@ifba
= B W wdam 87

(A) gsuaras

B) Foaras

(C) Frrogares

(D) sFrragaras

I T Hew B — waw A I
w1 e R @2

(A) 3T

B) Ia

(©€) g=¥

D) #

MAsE A Ees 0 #y
Rea w1 w1 @ fog ofte v 9+
(A) @i
B) waif
(C) wd
@) ™
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Q133 ‘gu ot fEdH wftey & A Q136 T Mo anm ot | — 59 TR

yavg W' - Rea W o 3 fog & a9 87

UG e I | (A) amseds

(A) a=1fy (B) widEe®

(B) wifdy o (C) Fooni®

(©) of% 3 (D) wHaeara®

(D) fwma

Q137 fr=fafea 4 & @ W o ug #7

Q134 & wih wian e T (A) Wg® U wga € Sy o #)

(A) i B) g R 758 @ T o G

(B) ¥ 8

(C) i (C) &g Yord & da=nfear o fvwnd

(D) o B¢

(D) e & a@Hi am )

Q135 W ¥ vx for@ - 5w = @

aaTE 87 QI38 W =® &1 wwedan
(A) @daren T & — J9g @ 4 | Rew W
(B) w¥arey A @9 W fem R ao?
(C) wraareq (A) sreufdvm
(D) &)—alare (B) sigfavm

(©) yeifdem

(D) drs foes
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Q139

Q140

Q141

LM-B

et &1 oY gFr—yera &1 3wt
(A) ¥uilT Eiea B

(B) Wgd Woal—ated! Bl

(C) 9 &1 aadHY

(D) &7 & A wen

T8 4% 3R W B T — A @
e 7 |

(A) woEd # s wa g T #)
(B) @ad &94 fRamn

(C) T R e |

(D) 9 AR | qGHT B0 Al

HEAT|

e & 1gn &1 T e
8T T 87

(A) IR gEd

(B) Wrdg

(C) T Ffa

(D) ig9ioN WS

i2

Q142

Q143

AB07

TG B vaer e 8
(A) Afreireror o

®) v Furd)

(C) ) fie fRsa

(D) TOEHY A

HR @1 IR (S D dEwS A
27

(A) SUE-Ta HTH

(B) SIS YR

(C) =i wreh

(D) AT DY

Fr=fofaa S & srags @
3w A Ry 7y wet (we e 144 -

146) ® IR |

Ay 59 Rrar & s e o vs
e 3fR @ 8, s o @ e
i 8, ol afn % 9w wew @ ua
& o TR RmRer 8| 59 v
i o 5 s @) equfea v
S ovan & e ol o oW g

HEoal el 8, 98 §9 98 o JTE
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Q144

LM-B

81 @ v 81 T R sl
% @ T ¥ T g A gunt A
wifkr a8 & Rrwl w o Saa SEE
78 &, aftw ot @1 siw B W 8| g
Ieifen # amr @ 8?7 awnt o 8 o
&l W 8--arsme | afRE e
&, et o fs qued HER M A€ €, 1w
e @ & o 99 e o 8, iR
g fmn & °F oW IwE @ gfE
faamn &, o aund 29w =6 B9 <)
9 WOR (3 e g oo ke
T ween 8 8, afes Ue ufwme
O W g 8, WIS w9
wrr ¥ @ gy Wl gt B A
ofias &) g9 WHR arafa R g @
o 99 gure] ¥ veer & e o
a8 @i 81 8| aneE # 38 SieE @
@ WA wfl st & v i IRl #
THE1 T sen B 8, R T
# ofl, afts wh vt 91, wife «l
wedt @ Tt afw fraf o @ &)

auian Ty @1 Wy e g |
(A) 9 &1 UF AT

B) wg= & Flafy

(C) W T ik Shad

(D) e & i
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Q145

Q146

TR TEAI FT WG DAY |

(A) &t e &1 v w7 wh Al R
i wft st &1 gae e
& B 8, Ak enite @ 8,
afer it T=af =1, w6 @i
vl @ T ofk Frafd e @
L

WRdg g9 R & 6 oivas &
E aeg 3R o g, ammm A
Wit gAR Tifde 8, R 3 A 9w
TE B YT B ATT EHI
fdmferer #)

T¥iw o % sy & equifen
& B T o & s ol
s 9N FHH W%oar e 8, TE
9 @5 OF 3NN B @ ufsm
B
w79 o @ @e & W
TS I UF B ulEmEr W g
g F= & W /N °9 PaA
e w8 & afes owe sim W
Wi &, 59 Suie § wja I ¢
g, B 59 & @ o wea
t) T yR INie @ Wl
st g usar 8 oify @
zuef ¥ FOR B Wil §w
T aqwfha rEve & e

(B)

(©)

(D)

Wit Wl @Y W e #)
IR TG F AR 9N Ry
auref #t wifty ¥ wgE e w87
(A) wF
®) =fw=
(© Frafty
D) srgawe
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Q147 ‘wa TE wdam @ 5w yer &
e 87
(A) Fragams
(B) sFTagaEas
(C) Fvmara®
(D) HgF W

Q148 Twam, W __ WeR
Reo w v @ fog R Ry et
# 9 SugE wE g |
(A) =
(B) =TT
(C) wf¥area
(D) S

Q149 va & waw # Ffafes 4 4 asr
‘st @8a &7
(A) Rar-ga
(B) geTd
(©€) B ga
(D) S9HT FBTHERN

LM-B

4BSR1012

Q150 Frefafem # | fvwan wam sfway
qRaEg Taet # weite e Fam,

e anfE @ g & gwn A gor 87
(A) 7=
®) "RuA
(C) wfergE
(D) srafera andw
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ROUGH WORK /v &1 & fag
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ROUGH WORK /v¢ &1 & forw
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Read the following Instructions carefully :

frafafae Frdal &) e @ 92 -

Out of the four alternatives for each question, only
one circle for the correct answer is to be darkened
completely with Black Ball Point Pen on the OMR
Answer Sheet. The answer once marked is not liable

to be changed

. The candidates should ensure that the Answer Sheet

is not folded. Do not make any stray marks on the
Answer Sheel. Do not write your Roll No. anywhere
else except in the specified space in the Answer Sheet.
Handle the Test Booklet and Answer Sheet with care,
as under no circumstances (except for discrepancy in
Test Booklet), another set will be provided.

The candidates will write the correct Test Booklet
Serics as given in the Test Booklet in the Attendance
Sheet.

Each candidate must show on demand his / her Admit
Card to the Invigilator

No candidate, without special permission of the Center
Superintendent or Invigilator, should leave his / her
Seal

. The candidates should not leave the Examination Hall

without handing over their Answer Sheet to the
Invigilator on duty. Cases where s candidate has not
signed on the Attendance Sheet will be deemed not to
have handed over the Answer Shect and dealt with as
an unfair means case,

Use of Pencil/Electronic/Manual Caleulator is
prohibited.

The candidates are governed by all Rules and
Regulations of the Commission with regard 1o their
conduct in the Examination Hall. All cases of unfuir
means will be dealt with as per Rules and
Regulations of the Commission.

10. Afier Examination is over, candidate has to retum his

Answer Sheet 1o invigilator, Invigilator will hand over
the Candidate's copy to candidate, then only
candidaie is allowed 1o leave the examination hall.
Candidate is only allowed to take Candidate's copy of
answer sheel

I1. Candidates are not allowed to take Test Booklet with

them. They have to submit the Test Booklet to the
Invigilator afier the exam.

L

™

TAE W B fow Ry 1 9n et § @
! o & fog &) 9. IR oW v W
Fad U e o § gl v e a1 dige
T A | UF AN I Aifda e o @
W% SR w1 A8 S W 81

el yhifea &% @ o vaw @ A
7 WY E OE W e oy Pras a1 s
qdeeft s s e wae N Pwife
W+ B AftifRen s 9 fard

wien giawr d SR wEE @

W @, waits el @ oRftafy ¥ (
Tden gRaer # @90 o vre @) 98 ohm
s vd SR UHe Sudal A8 v
AT |

. g it # € A aden gitaer @i

& el v afies @ Sufefy o
fered |

I8 WH W uEe gaemd, o sdes o
HUAT Waw v=S fawmm |

T AT HE AT Bt AR Iy B
faer i ol sroEr e A 81

. IV T A T AT IR UA v

fan odemdl svem w8 e ol
& el 3 SuRefy o9 W swER
781 fq o @' A Se @) 9Es O
=S 6l e & 3R aw s e @
AHAT JHT WU |

o/ aaie /s WRews &
A afofa &1

gden 8 A e @ fore udemdt s @
Tt Prait o R g Fraf €1 srfe
Al & W A @1 e s @
it v et & sar g

10.93%1 & Wi apad] TR uae oy Sahee

ol wier €| sriles g el #Y g
o & spadi ol /g oty swrme wad
gl ae fores auviE € o8 @) e A
el & syl | e vEE A apad ufy
el B AT T F 9 B R 8
e @ wavia wdemefl ) whan gRas
8 Fw0me ® @terfl ghft) oflen
qRa® &) ofereff s ww T @
o1 s f )
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